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Geography Answer Key 

       A) Answer the following 

1) The southern part of India is a peninsula and is shaped like a cone.It is surrounded by the Bay of 

Bengal along the east coast the Arabian Sea along the west coast and the Indian Ocean in the south. 

2  The Bay of Bengal lies along the east coast. 

3) The Himalayan mountains in north of India is shaped like a crown. 

4) The physical features according to which our is divided into are as follows: 

a) The Northern Mountains or the Himalayan Region. 

b) The Northern Plains. 

C )The Great Indian Desert or The Thar Desert. 

d) The Southern Plateaus. 

e) The Coastal Plains. 

f) The Andaman and Nicobar Islands and Lakshadweep Islands 

5)The neighbouring countries of India are as follows: 

Afghanistan,  Pakistan, China, Bhutan, Nepal ,Myanmar, Bangladesh, Sri Lanka and Maldives  

B)Fill in the blanks:  

1) seventh 

2)Indian 

3)2,900 km 

4)north-west 

C)Define: 

a)Peninsula : An area of land surrounded by water on three sides. 

b)Plateau: An area of relatively flat land that is higher than the land around it. 
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A) Arabian Sea 

B) North of India 

C) Yes 

D) Indira Point 

B)True or False  

1)False 

2)True 

3)False 

4)True 

 

 

 

 

 

     


